





RTO Code: 45273 | CRICOS Code: 03778C

# SYDNEY AND ADELAIDE CITY EXPERIENCE

Choice of 2 Australian Campus



### **Victorian Institute of Education**







#### Welcome

Welcome to **Victorian Institute of Education**, where you discover a wide range of study options available. With two campuses in Sydney and Adelaide, VIE offers vocational courses from Business, Technology, and Health. Victorian Institute of Education is known as one of the quality education providers in Australia, hence is built on deep industry experience to bring you excellent courses that ticks all the right boxes. With such a range, you will find what you need to improve your skills and achieve your career goals.

Our Health Science and Business courses are very popular among international students. For your convenience, all of our campuses are located within 5 minutes walking distance from the train station. When you enroll with Victorian Institute of Education, you will not just obtain a good qualification, but you will also experience what Australia has to offer — as one of the world's most livable countries with endless opportunities for good lifestyle, and new life experiences. You will definitely fall in love with the friendly environment, sunny weather, famous restaurants, delicious cuisines, tourist attractions, and fun nightlife!

# Why Victorian Institute of Education (VIE)?

There are many reasons to study at **Victorian Institute of Education** 

#### **Our Courses**

- · High quality and industry-focused courses
- Regularly updated courses to reflect industry trends
- Engaging and practically-focused training
- Well-qualified, experienced, and friendly staff
- Work placements are organised for Health Science courses
- Work opportunities through placements for international students

#### **Our Services**

- Friendly and professional student support team
- Providing academic and welfare assistance
- Access to English language programs through our associated college group —Southern English College
- Excellent learning management to assist
- Airport pick-up for students who booked in advance
- Pre-departure information and after arrival orientation program
- Accommodation support through advanced request

#### **Our Facilities**

- Spacious, modern, and fully-equipped classrooms
- Free WiFi access across campus
- Industry-specific, updated, and engaging training and learning materials









# **Victorian Institute of Education**

# **Course Information**

# Onshore Fee List

|                                 |                                                                                                                                 |            | _             | Package              | Availability               |
|---------------------------------|---------------------------------------------------------------------------------------------------------------------------------|------------|---------------|----------------------|----------------------------|
| Faculty                         | Course                                                                                                                          | Term       | Fees          | Duration & Fee       | SYDNEY   ADELAIDE          |
| Information<br>Technology       | ICT50220 Diploma of Information Technology CRICOS Course Code: 107866E   78 Weeks   Material Fee \$75 Per Term                  | 6          | \$1,750       | \$10,500             | V   -                      |
|                                 | ICT60220 Advanced Diploma of Information Technology CRICOS Course Code: 107867D   52 Weeks   Material Fee \$75 Per Term         | 4*         | \$1,750       | \$7,000              | V -                        |
| Accounting                      | FNS40222 Certificate IV in Accounting and Bookkeeping CRICOS Course Code: 110019G   52 Weeks   Material Fee \$50 Per Term       | 4          | \$1,500       | \$6,000              | V  -                       |
|                                 | FNS50222 Diploma of Accounting CRICOS Course Code: 110514C   52 Weeks   Material Fee \$50 Per Term                              | 4*         | \$1,500       | \$6,000              | V  -                       |
|                                 | FNS60222 Advanced Diploma of Accounting CRICOS Course Code: 110515B   52 Weeks   Material Fee \$50 Per Term                     | 4*         | \$1,500       | \$6,000              | V  -                       |
| Banking<br>&<br>Finance         | FNS60622 Advanced Diploma of Banking Services Management<br>CRICOS Course Code: 109945A   78 Weeks   Material Fee \$50 Per Term | 6          | \$1,750       | \$10,500             | V V                        |
| Human<br>Resources              | BSB40420 Certificate IV in Human Resource Management CRICOS Course Code: 104955F   52 Weeks   Material Fee \$50 Per Term        | 4          | \$1,750       | \$7,000              | レレ                         |
|                                 | BSB52320 Diploma of Human Resource Management CRICOS Course Code: 104956E   78 Weeks   Material Fee \$50 Per Term               | 6          | \$1,750       | \$10,500             | レレ                         |
| Leadership<br>&<br>Management   | BSB50420 Diploma of Leadership and Management CRICOS Course Code: 10372 K   78 Weeks   Material Fee \$50 Per Term               | 6          | \$1,500       | \$9,000              | レレ                         |
|                                 | BSB60420 Advanced Diploma of Leadership and Management CRICOS Course Code: 103722J   52 Weeks   Material Fee \$50 Per Term      | 4          | \$1,500       | \$6,000              | V V                        |
| Marketing<br>&<br>Communication | BSB40820 Certificate IV in Marketing and Communication CRICOS Course Code: 104957D   78 Weeks   Material Fee \$50 Per Term      | 4          | \$1,750       | \$7,000              | レレ                         |
|                                 | BSB50620 Diploma of Marketing and Communication CRICOS Course Code: 104958C   78 Weeks   Material Fee \$50 Per Term             | 6          | \$1,750       | \$10,500             | レレ                         |
|                                 | BSB60520 Advanced Diploma of Marketing and Communication CRICOS Course Code: 105108D   78 Weeks   Material Fee \$50 Per Term    | 6          | \$1,750       | \$10,500             | レレ                         |
| Project<br>Management           | BSB50820 Diploma of Project Management CRICOS Course Code: 104954G   78 Weeks   Material Fee \$50 Per Term                      | 6          | \$1,750       | \$10,500             | VI-                        |
|                                 | HEALTH CARE CO                                                                                                                  | URSES      |               |                      |                            |
| Child Care                      | CHC30121 Certificate III in Early Childhood Education and Care CRICOS Course Code: 108937J   52 Weeks   Material Fee \$1,000    | 4          | \$2,200       | \$8,800              | レレ                         |
|                                 | CHC50121 Diploma of Early Childhood Education and Care CRICOS Course Code: 108938H   78 Weeks   Material Fee \$1,000            | 6*         | \$2,200       | \$13,200             | レレ                         |
| Care Support                    | CHC33015 Certificate III in Individual Support CRICOS Course Code: 0100346   52 Weeks   Material Fee \$1,000                    | 4          | \$2,200       | \$8,800              | V -                        |
|                                 | CHC43015 Certificate IV in Ageing Support CRICOS Course Code: 0100347   52 Weeks   Material Fee \$1,000                         | 4          | \$2,200       | \$8,800              | レレ                         |
|                                 | CHC43115 Certificate IV in Disability CRICOS Course Code: 0100348   52 Weeks   Material Fee \$1,000                             | 4          | \$2,200       | \$8,800              | V -                        |
| Community<br>Services           | CHC52015 Diploma of Community Services CRICOS Course Code: 0100350   52 Weeks   Material Fee \$1,000                            | 4          | \$2,200       | \$8,800              | レレ                         |
| Prerequisites required for C    | uired<br>CHC50121 is CHC30121   Prerequisite for ICT60220 is ICT50220   Prerequisite for FNS50.                                 | 200 in FNG | 10000 L Duane | an delta fen Elkicoo | 2000 TNO 40000 C TNO 50000 |

#### Note:

52 weeks include 40 teaching weeks and 12 weeks of holiday 78 weeks include 60 teaching weeks and 18 weeks of holiday 1 term is 10 teaching weeks







## **Victorian Institute of Education**

# **Course Information**

### **Offshore Fee List**



#### Note:

52 weeks include 40 teaching weeks and 12 weeks of holiday 78 weeks include 60 teaching weeks and 18 weeks of holiday 1 term is 10 teaching weeks

# HOW TO APPLY INTERNATIONAL STUDENTS

Before you make admission application to VIE, please read the entry requirements for International Students

#### 1. International Application Form

Send the completed student application form along with: Certified copies of academic documents, English Language Documents, Proof of Identity-Passport to: admissions@vie.edu.au or your agent.

#### 2. Application Assessment

Once your application is received, we will assess it to check whether you meet the English language and academic entry requirements for your choosen course programme.

#### 3. Letter of Offer

If the application for the course is approved, we will send you a letter of Offer. It will include course start dates, payment details, airport arrival and accommodation information etc.

#### 4. Tuition Fee Payment

Your Fee payment details are included in your letter of Offer. Please ensure you have read and understood the VIE refund policy before making your tuition fee payment to VIE.

#### 5. Apply for a Student Visa

Once your fee payment is received, we will issue you with a fee receipt to support your student visa application. More information on student visa application. More information on student visa requirements at: www.border.gov.au/Trav/Stud

#### 6. Pre-Departure

Plan to arrive in Australia and at VIE in time to attend the International Student Orientation session. Once you have booked your flights, organise airport pick up and your accommodation at least 14 working days before you arrive.

#### 7. VIE Orientation Programme

You will be required to join other international students for the VIE Orientation programme, finalise your enrolment process and commence your course studies. For student enquiries: info@vie.edu.au

#### **Contact Us At:**

- O 1300 871 776 (Australia) (02) 8318 1465 (Overseas)
- admissions@vie.edu.au
- www.vie.edu.au

#### Follow Us On:

- f /victorianinstituteofeducation
- /victorian\_institute

# **Our Locations:**

Sydney City Campus: Level 2 & 3, 741 George Street, Sydney NSW 2000 Australia

> Adelaide City Campus: 97 Pirie Street, Adelaide, SA 5000, Australia







#### **Useful E-mails:**

**General Course Information** info@vie.edu.au

Admissions (Offer Letter) admissions@vie.edu.au

Accounts and Finance accounts@vie.edu.au

Marketing marketing@vie.edu.au

GTE Approval and COE coe@vie.edu.au

Agent Agreement Enquiry Partnership@vie.edu.au



www.vie.edu.au

RTO Code: 45273 | CRICOS Code: 03778C

Version 2.2